Worksheet 15
5.

On amap, 0.75 inches represents 100
miles. If two cities are 1.5 inches
apart on the map, what is the actual
distance between the cities?

A. 500 miles
B. 300 miles
C. 200 miles
D. 150 miles

Mariawas able to assemble 36
printed circuit boardsin the 2.25
hours before her first break. At the
same rate, how many circuit boards
will she assemblein 7.5 hours of
work?

A. 120
B. 150
C. 240
D. 608

The weight of an object on the moon
is proportional to its weight on Earth.
An astronaut who weighs 180 Ib on
earth weighs 30 |b on the moon.
How much will a battery that weighs
24 1b on Earth weigh on the moon?

A. 1751b
B. 4lb
C. 6lb
D. 75Ib

Weed killer is spread at the rate of 3
Ib for 1200 ft>. How many pounds of
weed killer are needed for 2000 ft*?

A. 2Ib

B. 5Ib
C. 8Ib
D. 501Ib
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Ron counts his steps as he walks
from his front door to the street. He
takes 24 stepsin 64 feet. How many
stepswill he take to walk 1.2 miles?

A. 2376

B. 1980
C. 1650
D. 1280

If 5 ounces of medicine must be
mixed with 12 ounces of water, how
many ounces of medicine must be
mixed with 96 ounces of water?

A. 8ounces

B 16.8 ounces
C. 19.2 ounces
D. 40 ounces

If 5 large bolts weigh the same as 85
small ones, then how many small
bolts are equal in weight to 8 large
bolts?

A 17
B. 53
C. 120
D. 136

A 3-ft piece of the cable was cut off
of areel and weighed. It weighed
0.25 Ib. Thereel and remaining cable
weighed 88 |b. An empty reel
averages about 8 Ib in weight. About
how many feet of cable remained on
thered?

A. 20ft

B. 60ft
C. 960ft
D. 1056 ft
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10.

11

Theinstructions with a cetain epoxy 12

casting compoundcdl for mixing
between 9and 10 grts of curing
agent with 100 @rts of epoxy and
then curing at 100C for 2 hous.
Which ore of the foll owing would be
an appropriate anourt of curing
agent to mix with 10 pound of
epoxy?

A. 14.0 oures

B. 15.5oumes

C. 17.7 ourmes
D

18.0 oumes

13.

A charity 10-kilometer raceis
given annually to benefit alocd
hospice organization. How long
will it t ake to run a 10-kil ometer
racefor arunner whose average
paceis 125 meters per minute?

A. 12.5minutes
B. 1 hou and 20minutes
C. 5hous

D. 12 housand 30minutes

14.

Divide and simplify.
8x—8 ., 9x-9 _
X 2%°
16x3 —16x>
9x* —9x
72x2144x+ 72
2x°

20X
9
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Multi ply and simplify.

28a° 5p _
b™* 4ab*
A. ——E—
35ap

31,8

B. 112a’b
Sp

C. 35

D. 35ap

In Patrick’s math class hisquiz
average ounsfor 30% of hisfinal
grade, and histest average ouns
for therest. Hisquiz averageis 80.
What must his test average bein
order to ean afina grade of 87?

A. 21
B. 63
C. 84
D. 90

The width of asquareis deaeased
by 4 fed anditslength isdoulded to
produce aredangle. How long was
the side of the origina squareif the
areaof theredangleis 12 ft* less
than the aeaof the original square?

A, 2ft
B. 3ft
C. ©6ft
D. 12ft



